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(fj_r Scheme I Candidates on'iJ 

Second Year Higher Secondary Examination 
Part- Ill 

ECONOMICS 
Maximum : 80 Scores 

Genera/Instructions to Candidates : 

Time : 2% Hours 
Cool off time : 15 Minutes 

• There is a 'cool off time' of 15 minutes in addition to the writing time of 2% hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the 'cool off time'. 
• Use the 'cool off time' to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the 

same question itself. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non programmable calculators are not allowed in the 

Examination Hall. 
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1. Mention one example for each of the 
following market structures. 

i) Monopoly 

ii) Monopolistic competition. (2) 

2. Below are given the relative size of 
the budget. Mention the type of the 
budget. (3) 

Relative size of Budget 
Type of 

Budget 

(i) Revenue > Expenditure 

(ii) Revenue = Expenditure 

(iii) Revenue < Expenditure 

3. The price ·of a commodity goes up from 

Rs. 5 to 6 as a result of which demand 

falls from 8 units to 6 units. Calculate 

price elasticity of demand. (2) 

4. Mention the appropriate term. (2) 

Concept Term 

Branch of economics 

(i) 
which studies the 
behaviour of individual 
economic units 

The Govt. imposed 
lower limit on the price 

(ii) that may be changed 
for a particular good or 
service 
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1 . ((5) J 6) '5' o.J () (Q) 6 (ffi <B:l (8 m.J J ~ OJ J OJ ffi2.0 

c£h cJOcBfi) 630Cll(()O ~B0o.D(()6Tno %) 1£>6 ®6<B:l. 

i) <B:l6®m<B:l 

ii) <B:l6®m<B:l QJ®U(()o (2) 

2. ®061\f c.fu06m1-e,Jl (()1c£76)6 em oJ1 oJ1 W®(()o 

6W g)6 R6 <B:l §.6 61 s o.J §1 c.fu CQ>1 ~ m1 rm 6 o 

630<8(()0(ffi6o nfficiD ru1rso(f)U~ 6'lo.JS6 

6)QJ()T) nB)'f'6((5)6<B:l. (3) 

6llJSi?R 6)6)m.)(ro 6llJSi?R ru11iOOOo 

(i) 
L nJ ®icMil CO> ru ronJ > 

L nJ ®I cOO:fl CO> 6l ..!l.l eJ ru" 

(ii) 
L nJ ®'1 cOO:fl CO> ru roru" = 
L nJ ®i cM11 CO> 6l ..!l.l eJ ru" 

(iii) 
L nJ ®icM11 CO> ru ro ru" < 
l nJ Mi cOO:fl CO> 6l ..!l.l eJ ru" 

3. 63(()6 cmowmd6'lrm oJieJ 5 (()~oJW!~ 
cDlcffi6o 6 (()~o.J(Q)OmJ1 ClJffiBD1~<8c;tjOcJ0 
cmowm({5®16'lcm G.DJoBmo 8 (Q)~611SlR1~ 
ml cm6 o 6 (Q) ~ 6Tn1 fP mf1 cfu6 o 6r6f6) 6 . 
<8..!2JOBffiQ6'l~ oJieJ gQeJOCWlcfu® cfu6Tn 
d%)0c£76)6c£h. (2) 

4. ffi'I'Offi6<8CWOg)6jQJOCW o.JBo o.ti)'5'6®6cfu. (2) 

~0 n..IGo 

OJJ~ CJ)(IDCQ)~ 6'r'Dlf16c&~ 6)5 

ffi)j@00J6)CQm(Q)60 6)o.Jffi6 

(i) mOR6l<OmW6o oJl C/llcme.Jmo 

6l .DJ <:gJ 6 em \ru o ffil (m0)1 c& 
CRIOLCWCR106l.l 

63 ffi6 ffi>O W m (0@16) cVs (]CWO 

(] \ru ru m com 1 6l cVs (] w o 
(ii) cfu (] ('f)J 0 §. o..fl eJ (] CQ) ceG) 0 cJO 

CJ)OJ: ®o ':9 em oJl eJ ffil u:!2l 

@ce£)6em ffil®l 
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5. Write down the two major components 
of balance of payment. (2) 

6. The fallowing table shows TFC and 
TVC of a firm. Find out TC, AFC, 
AVC, AC and MC of the firm. (5) 

Units 
of TFC TVC TC AFC AVC AC MC 

output 

1 50 30 

2 50 50 

3 50 60 

4 50 65 

5 50 75 

7. Keyne's book "General Theory of 
Employment, interest and money" 
was published in 

i) 1926 

iii) 1946 

ii) 1936 

iv) 1956 (1) 

8. In economics, it is generally 
assumed that consumer is rational. 
The consumer have well defined 
preference over a set of available 
bundle. He always tries to maximise 
his satisfaction or attain the optimum 
level. Diagrammatically illustrate the 
consumer's optimum. (8) 

(Hint: Consumer's equilibrium). 
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5. OJj8nJ8ffiU?>1~~6)<m morrs" Ln.JWJfn 

o.eJS<fu61ffiOO Offi@<mgpo ? (2) 

6. <m 8 6) 1.9 6) cfu o s 6 wrm1 m1 c£Hi\~ rrn nJ 31 cfb 
CQ)laffi 63C06 ~®o.JoBm WJ6m1R1~TFC, 
TVC %Jrm1ru <fb06m1-:9Jlm1c66>6(TT)6· 
~ruco51am m1rrn6o TC, AFC, AVC, AC, 
MC %Jrm1ru <fb61156nJ161c66>6<fb. (5) 

Units 
of TFC TVC TC AFC AVC AC MC 

output 

1 50 30 

2 50 50 

3 50 60 

4 50 65 

5 50 75 

7. @cmcWiffi>mf lo.J£56 ®@<m o.ll62Jj::>® 
LWffiOill8W "6)®0~«>1>, nJeflU?>, nJ6mo 
%)CTn10JW6@S 6)nJ8®6(f01BDOC®o" 
Offi®6 ruroo.91C!\06f($' LnJm51BDi<fhmle:J®. 

i) 1926 ii) 1936 

iii) 1946 iv) 1956 (1) 

8. ~oJCU50c005)0cB£>00 6)oJ0®6<80J cfbOffij 
o.J1_QJO<Offi6§§QlC006f($'. 630<8COO ~nJ<8@0 
cB®OCL.l60 ®@<m 0JC06ffi0ffio nJ<OQ)O 
ruu5l LoJ<8m>o~mo e.Jcs1cB£>tmWcB£><Oim>1 
CQ)l am @_QJ eJ OJOc66JO<fO «r©lWru5lc66>6Cffi6. 
«r© ru m j 6m3 6) §. ® § 1 ..g,J 6 <8 m o d16> 6 
<8ffilOW ruco3momo o.Jro1m1wmo6l'f). g;Q'D 
.ffi)Oo.D_QJ CO j®m1 am ~o.J <8 @OdJ®OoJl m" 
nffi <8 Q::J o 1.9 o 6ffi" o.J como ru uJl (l'Do (l5)0oJ1 
e.JB1c66J6CTn@(l5)()1") ..!1.11L®®m1@<m (Tt)n.00 
W<8®m8 6>5 o.J1 ruco1 d16>6cfu. ( 8) 
( m>J-oJm : ~(8(5:)c&® (l'Do®6eJl(l5):)0J<nl.O) 



9. List of some variables are given 
below. Classify them in a table into 
stocks and flows. 

i) Wealth 

ii) Income 

iii) Consumption 

iv) Investment 

v) Expenditure 

vi) Capital stock. 

Stocks Flows 

(3) 

10. State whether the statements are 
true or false. 

i) In a perfect competitive market 
structure, firms are price takers. 

ii) All firms in the market produce 
homogeneous product. (2) 

11. From the following information, 
calculate GNP and NDP. 

(Rs. in crores) 

i) GDPMP 65,665 

ii) Consumption 
of fixed capital 2,250 

iii) Net factor income 
from abroad 750 (4) 
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9 . .DJ6ru61s <8.!Llrororn nJ§1ancw1arn dh::>6Tlil 
-sJ1 ru1 cW) 6 rm o OJ ro1 CQJ mil dO (fl)161 m 
<8~pd76l <Eruru1wmJlciO, <E<MlO <3ruro1cm 
6W1cf0 nm(1'1)! roOf@ ojlg)(f)6m3~p<Wl ®<to 
®lco1c;W)6c£b. 

i) Wealth 

ii) Income 

iii) Consumption 

iv) Investment 

v) Expenditure 

vi) Capital stock. 

Stocks Flows 

(3} 

10. CIDJ6J(j) 61c£bOSc?,C6"'fm1ru1cW)6ITn Lo.Jrgprum 
cfbUO croru1<3CWO 61CID<3fp nB)cm" Clffi':P6®6c£b. 

i) w~ ro 6lD m <mJ (0 c£b <E ffiJ o ~ ®m161 e.~ 
o..TI~mcOOorocm 63<06 '616/Ln.Jrru<EscOOro' 
@'@c£b6 ml6. 

ii) nJJffi6TD Q)<m)(O c£b<EffiJ0~0®16)e.J 

o.(])~p ~®nJ::>Bm CWJ61D1ffic£b~o 
083 c£b ::> ((}Q) c£b rru ::> w m 6m3~ o 6TDU 
lnJB::>mo 6J.!Ll<~Qrm®. (2) 

11 . ..0J60J61S 61c£b0S6®m1<01c;W)6ml o..J10J<06TD 
((5Y(D1 afO m1 mi6 o GNP, N 0 P %)m11 ru 

(As. in crores) 

i) GDPMP 65,665 

ii) Consumption 
of fixed capital 2,250 

iii) Net factor income 
from abroad 750 (4) 



12. Which of the following is a 
characteristic of oligopoly ? 
i) A market situation with only a few 

buyers 
ii) A market situation with only a few 

sellers 
iii) A market situation with only one 

seller 
iv) Government control over price. (1) 

13. In an economy, the level of inc,ome 
.is Rs. 1,000 crores and the MPC 
is 0.8. If the investment increases 
by 200 crores, calculate the total 
:increase in income. (3) 

Welfare considerations enable the 
govt. to impose price floor for some 
goods and services. Mention any 
one example of imposition of price 
floor (1) 

15. Explain the concept of aggregate 
demand with the help of a diagram. (5) 

16. From the table identify the di'fferent 
levels of TP which makes the 
different phases of the operation of 
the law of variable proportions. (3) 

Variable 
T.P. 

Stage of 
Input Production 

0 0 
1 10 
2 20 
3 30 
4 30 
5 28 
6 26 

___j 
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12. ®06)~J> o.Jow;pnrum5lam '63g\<W)06)wogl' 
CQJ66)S LnJWOm m.:>j@OOJ o.Jl<&CJOn91o 

0@®06ffi ? 
i) c8:>60..gJ' ~nJ<&@Odtffi0dJ6)~6)S c8:>6<0®<£h 

ii) ce:,3o-9J o..n~md76):::>ffi66)S c8:>6®mcfu 

iii) 63ll>6 o..n~md76)0ffi6)~ c8:>6®mc&.. 

iv) (f)OJ6fi06)m<"@m oJ1eJm5leJ6~~ 
mi<WlmrlGmo (1) 

13. 63ffi6 ffi)ffiJ8uOJJOJC\'U.O<nfl6)eJ 6)Q):::Jtmm 

0Jffi6l!l:::>mo 1, 000 <Bcfuos1 ll>Jo.J<W6o 
m.:>"l l!lO<&r®::>w<&rs:::>(f)o@1m1<&0Juoo ( M PC) 
0.8 ~o ffi'@)6ffi. ffil<&dh9:1nJo 200 <Ub:::JS1 ll>4nJ 
OJ & BJJI <J:[Lg,j:::J am ffi) ffiJ Bu OJ j OJ ffil.O ml)6)eJ 

6)£wcmm rull>6mom<lf®16)eJ ru&Bl.Xnru nfDL® 

CQ)06)6mrrrl db6md76)0d76)6cfu. ( 3) 
14. c& c.&.81 m l nJ ru & (O'(ll) m 6m3 §6 6) s rs ow Q) :J mll 

(I) OJ 6Yf6 61 m rW .aJl eJ m.:>o wm 06T3~ 6)S<&m>o 
(g ffi) OJ m 6013 §,!, 6) s (g w J (g nJ ll>l am (!5) oo.Jl eJ 

.!l.J6 Q) M'm6 OJ 0 em ml & 6lli mJJ1 (!5) Q) 0 cfu6 rm 6. 

gQ "0 o.Jl @ 0 (I) cmml am 6) nJ s 6 rm ffi)J w m 

6lffi~6)S<llW:::J <Jlffi)OJffi60Y:3~6)S<&<W:::J 63ffi6 

~BJnDll>Gmo Q{DIJ>6®6c&... (1) 
15 . ..2-TIL®roi65l6)~ m.:>nDO<W<&(lf®06)S nfj)ml):::Jffi) 

n.OeJLC"l.JBQ):::JCQJ <&.!lJJBmo nfj)® OJJc&® 

Q)0c006cfu. (5) 

16. TP W66)S oJloJlw ®eJ6013ciD m.:>~-!251~-e,Jl 
ll>1c006ml nJ§lce:,CQ5lm1> ffilrm3o o.Sl<&r5Bc8:>J 

mJ,nJJ®6ll'B~6)S m1<:wl!l®m16)~ o.SloJ1w 

neJ §6ll'B em c8:>6n56 nJl S\6)-9J IJ>6 ®6ce:.. ( 3) 

Variable 
T.P. 

Stage of 
Input Production 

0 0 

1 10 

2 20 

3 30 

4 30 

5 28 

6 26 



17. Which type of market have full 
control over price ? 
i) Perfect competition 

ii) Monopolistic competition 

iii) Monopoly 

iv) Oligopoly. (1) 

18. In India RBI has developed 
alternative measures of m<;mey 
supply and figures are published 
accordingly. 

a) Prepare a chart showing the 
alternative measures of money 
supply in India. 

b) Categorise them into 'narrow 
money' and 'broad money'. 

c) Also identify the 'most' and 'least' 
liquid forms of money. (8) 

19. The following table shows the TR 
and TC schedule of a competitive 
firm. Calculate (a) the profit at each 
level of output. (b) determine the 
market price of Good X. {4) 

Qty. of Good X TR TC 

0 0 10 

1 10 . 14 

2 20 20 

3 30 24 

4 40 30 

5 50 46 

6 60 66 

7 70 80 
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17. Gill@ db<ZmJO~ OJjOJCTUDcOOOGffi nJle.J 
W1am nJJf06m m1m>L()'ID6ffi~®? 

i) n..lJffi6ffi ffi®Uffi<fb<2ffiJ:.'>§o 

ii) cfu601ID<fh marrumo 

i i i) cfu6 (m)cfr> 

iv) 63§lczmo6)oJO@ (1) 

18. gQr®jW1m3 oJ6m~6)<"{q lnJBOffi6)@m 

c;d8l nJeJ OJ1WDeJ6~~ o.Jirum611Bci6 
RBI LnJm5lBJJ6)~5601ID1W1~61"@. 
a) nJ6mMm16)CVs LoJBOffi6)®'ID ®a>o 

@lffild%)601) 63ffi6 ..!lJoffi§' ~OO::X006<fb. 
b) g}20J6)Qll tgQS66m31CO> nJ6TD6)QlCffiJp', 

to.JlcRl::>eJoJ~o' ®alo~<fb. 

C) nJ6ffilnJBOffiMm16)CVs <lm>~OJJ <EcfbO 
fill~ Cffi80J6o 'cfbJS6®~' LBOJj®J 
0J6o, o.ffi80J6o 'db606TU"M' LGOJj 
m)JOJa,o o.fB®1m::>6>6TDCffiu 0Jjc005) 
ffiOd%)603:>. (8) 

19. 63ffi6 ~®"nJ::>Gm CO>J6m1R16)~TR,TC 
O{j) rm1 cu w 6 6) s oJ §1 c£b ® o 6) ~ <Em 6lJ 

6) 2:J S6 @())1 CQJl m1 d%)6 01)6. gQ OJ mJ1 ~ 
m1cmJp ..n...I60J6)5 nJOWJ/ffi tfb:.'>ffij60BOO 
tfb61156oJlSld%)6tfb. (a) 63::><2mo CIDJ6ffi1R 
'X'Ol)::>Wffi@I5)16)~W6o ~®uoJ::>Gm 

@ll)1eJ6~~ eJ::>@o. (b) 'X' Ol)::>Wmmml@~ 
cfb<2m.JO§_ oJleJ. (4) 

Qty. of Good X TR TC 

0 0 10 

1 10 14 

2 20 20 

3 30 24 

4 40 30 

5 50 46 

6 60 66 

7 70 80 



20. The value of the nominal GOP of 

India was Rs. 2,800 crores during 

the year 2011. The value of GOP of 

the country during the same year 

evaluated at the price of some base 

year was Rs. 3,200 crores. Find the 

value of GOP deflator of the year in 

percentage terms. . (2) 

21. Under perfect competition, a firm will 

not produce output level in cases 

under (a) P>MC and (b) P<MC. If 

so, what is the condition of profit 

maximising output in the shortrun. 

Give diagramatic illustration. 

(Hint : Short run equilibrium of a firm 

under perfect competition). (5) 

22. Define rate of exchange. If 300 Indian 

Rupees are exchanged for 6 US 

Dollars, what is the rate of exchange 

between Indian Rupee and 

US Dollar ? (3) 

23. In an economy, suppose the govt. 

wants to increase the public 

expenditure keeping the tax rate 

constant. What would be the effect 

of public spending on the generation 

of income? Illustrate with suitable 
diagram. (5) 
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20. 2011-c&J §2\®jCWJ,@S ffi8QlQl8l® m@fij 

\®CUO::>~rrno 2,800 Gc£hOS1 ~JnJ<ID6o 
®OG® OJCOC1.916)<m'ID ~::>~j<m"ID1@~ 

m>LO::>CD®D m'@C5jr®~~::>~rrno 3,200 
Gc£hJS1 ~Jo.JW6al8Wl~6ITn6. Cl8)ITn8am 
GOP Deflator 6)~ Q)Je.Jjo CRJ®m::>m::> 
S1CTUD::>mU am cfu6mcS~X)d76)c?,c£h. (2) 

21 . nJJ {0 6m Cl) arru ~ cfu (}j(nJ :) ~ <mm1 am 63 ro 6 
~mrnJ::JGm m>J6m18 m>::J6)1.9 nJOm>6rrn 
ffiG'('@u ffi)(f3C0@6m~1e.Jc?,o ~CIDunJJ8ffio 

m1 co <11 nD1 ce-6)6 cm1 ~. (a) P > M C 
(b) P< MC. ®06m6)ffi6)CWahJam nffiCID6 
m:> m co cs COYm1 21 ::> Wl r6l ce-6) 6 o l nD CflJ Jc£h ::>e.: 
cw~oJlc&J ~(IDuo.JJ3m WJ6mlR e.J:)@cfbffi 
Ql::JW1 ~m>JnJ::J8mo ms<mmc?,rrnm>u . 

..!:211l em ClJ®16) ~ m:> nD ::J cw G <mm ::J s 6 cfbJ s1 
OJ jc£1{(\") Cl):) ce-6)6 c£h . 

( cru J.!l.l m : cru ffilJ, ro ~ ce:, 1 s m am cru m 
cfr,GffiJ::J~(O'(ID16le.J 63~6 ~::JBm WJ,6TD1 

816)~ lo.Offi)_rB.,Je.J ffi)()lj)6ej]®::JOJ<ru.D). (5) 

22 • oJl m1 Cl) (!)) m1 ro cOOU O{D ffi) Jam O{D \ffi)V ? 
6 ®OC8Ql(Q1cB€Km C8CW::J~o1m6 GOJ~ 300 
§2\®jM ffiJnJ @6lc£hmoo6c£hcwo@6m~1am 
®OC8Ql<n1cOOM C8CWO~OJ,Cl)OCQ)l ®§1-.eJJ, 
C8ffi0d76)c?, C8mJOcfD §2\®jM a>JnJ WJ,@S 
oJlmlmcw ffilroc:B6) O{Dl®CW::J@6mrrrl c£h6ffi 
d76)0d76)J,cfu. (3) 

23. 63 ro6 m:>mJ 8 OJ J OJ ffil.O mn am m:>cod76)oco 
ffilc£hJ,®l ffilroc.&6) OJjCIDj0ffi:l6)lliS6M'IDO@CID 
6)nJOCIDJ, ~e.JOJu OJCOBD1~d76)J,c£hCWO 

@6mcm" ®OffiJ,Cl)Offi1cOOJ,c£h. 6)nJOCIDJ,.il.fie.J 
o..n 6)oA OJ coBDmoJ ffi@:l m:>mJB'OJjOJCTUD 
cw1 6) eJ OJ ~ 6 Ql ::J m OJ ffi BD m OJ1 6/ m 
%)6l!B6lm m:> _pWlmlcOOJ,rrnJpOJ(T"'() ..2.Jll®o 
m:>o..Ol CIDo OJ jc£1{(\") Cl)OcOOJ, c£b. ( 5) 



24. Macro economics is also known by 
the name 

i) Price theory 

ii) Demand theory 

iii) Theory of Income and Employment 

iv) Cost theory. (1) 

25. The following diagram shows 
equilibrium market price determined 
by the equality between demand and 
supply. 
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Show the effect of change in demand 

and supply on equilibrium price and 

output under the following situations 

(use diagrams) 

i) Increase in demand or when the 

demand curve shift rightwards. 
A 

ii) lncre&e in supply or when supply 

curve shift rightwards. (4) 
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2 4. 0U.OJ eJ ffi) J (f)J (010)1 db ([() J l (T~)(oriD16l em 
aJ61fJ8ffi6 ffi:JQJCZLOCQ)o <1{8© ? 

25. 

i) Price theory 

ii) Demand theory 

iii) Theory of Income and Efl'oloyment 

iv) Cost theory. (1) 

(]_sjJBCD~~jC ,.~3:·~ ::_;:: :3,~8cfu~~· 
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